24+3x+a=0Tx2-2x+b=00°] &

7H o, &4 a, b O] G227

@a=—4,b:1

A

oAy

=
m

-1

@ a=-4,b

@ a=4, b=-1

@ a=-3,b=1

-1

® a=-3,b

)

Bl

—_

fite)

of

[y

N <

N ___1

= Il

=

< S

IR

moﬂo

1

oo+ 4

132
+
—




OZPHA A 2x2 —6x = -1+ x> < (x+ p)? =
p—i—q—f]%)\'%?
@ os os o

8 S = -1
OFtHo| 9 & H5}H x2 —6x+9=-1+9
(x-3)2 =38




Dym>7 @ m<7
@ m< -7 ® m>-7

D=4>-4x1x(m-3)<0, m>7




4.

A AA 2x% + px+g =09 F
px +qx+2—04 = w27

D)2 @ -1 ® 0

O|ZFHFA Al —9x2 —4x + 2 = 0 oA

e l=2




oAt y = 2x2 - 12x+ 10+ k & I ZE
y O Hger 3 g ol AlZle W, x 3
7V k> a oIt a of #27

)
1o
oE
do

D1 @ 2 ® 3 @ 4 ®)5

o|ZF4=9] A& A st
y=2(x*-6x+9)-18+10+k=2(x-3)2-8+k°|BE=E
Bol st IO ALy =2(x-4)%-5+k °|th

o] lﬂﬂﬁﬂx%ﬂr TA] o

AL 5+ k70 B} Aok SRR k> 5
E}E}H a=75 ot




® 7 @ 5 (@)1 @ 9

y = —x% + 2kx + 4k
= —(x% - 2kx + k? — k?) + 4k
=—(x—k)? + (k* + 4k)

NG k2 +4k=5, k2 +4k-5=0
k=1FEk=-5Xk>0°ER2 k=1




OJAPYA A 2x2 —ax+2=0, x> -3x+b =02 FF2 3|7t 2

_T%__
o, ab ©] = +5HH?

® -25 @ -10 @1 @10

® 25

~&B

Fo17l Ao x tiAl 2 & st
8—-2a+2=0, a=>5
4-6+b=0, b=2

coab =10




Al Ae] A7t olet 7 Al o] o] g 100]

o] ¥l T2 A o] o) ot A
&, o] Adof 7t Ape o] 5 A E SolFot
AR 198 Ao A5 AAgE?

@ 235 @)325 ® 532 @ 523

AL, 7k A2 €]

g AL g

® 358

A, A, Mol a9l =5 A4 p, g, retsHH
p, g 0013 100 THe] Ao
r< 104 109|9ke] zpA<=olot,

pt+q+r=10---Q
dg=p+r---©

Q, ©A g=2

100p + 20 + r = 1007 + 20 + p + 198
p-r=2---0©
gq=25 Qo N4t p+r=8---®
©+@°MA p=5r=3

uhebA ohs 4= 3250t




ol wf, A<= a, b, p © F abp

13
2

13
2

wabp = -x13x(-1) =




10.

ojAF y = ax® +bx + ¢ & HAHO] A (-5,-7) &
Tt A4 AREEE AU 97] 91584 a ghel 71

=7

3
< ——
@(1_ 4

7
<
@a_25

=

4 =

=2

3 7
>-= > —
@ a> 1 @a_25

® 0<a< -




O ZE5H y = x2-2x— 3—47_’

ob1, x Z7k0] WHL B, C 2} & ),

o ol

@® 16 @ 8 ® 12

@5 ® 10

deAw
AABO

~&B

y=x>-2x-3=(x-1)2-4
A o HIE (1, —4) olth,
xS AP y=0< fo|B=
0=(x-1)*-4°lth

oA x = -1 E= x = 3 °|th
B 9] #xE+= (3, 0) |t

1
.'.AABO:§><3><4:6




12.

3+ V2

ax’> —kx—m = 0 9] St 0]

29

@ 2 @ 4 3)6 @ 8

7 13-1+2)
3+V2 7
La=1,b=2-12
2- V2, 24+ V2 7tax? —kx-m=0 & Zo|B&

=3— V2 =1.xxx

k

oy Moy
a a
k=4 m=-2

ck-m=4-(-2)=6




y=ax’+b+c

|

VL
@a+b+c>0 @ a<0 @b>0

@ c<0 ® a-b+c<0

~&B

ol BFO|ERZ a> 0

_ b
=9| g A x=—2—<0015§b>0
a




14. =d¢] Zol7k 12em Q1 FAES] WHAF2] dol7} rem & W, HolE
Scm? 21 gk § 7F AU o, - o] gh2? (W, WA 2] Zdolst

39 ol7b1 9 #AEE Holk Jir A& olBatofer)
S
O<— =
S
@ 6 @7 @ 9 ® 10

E912] Zol7t 12em 1 FAES] YRS rem o2} 5HH S.9]
Zlo]& (12 - 2r) cm ©|t}.

; 1
(FAEE Hel) = Sr(12-2r) = —r + 6r

=—(r-3)2+9
et r =3 & o, FAE2] 9] Hole 9 ot




15. Y3} o] 2 Ztol 5HAZEY ABC 2] AB 9ol M P & H
oA AC,BC & Hajgt 242 10 BC,AC o W= 4%

A
R 2 gtk oPQCR 9] Wol7t Zti7h 2 uj, BP o] 2ol &

@ lcm @ 2cm ® 3cm @4cm ® 5cm

B ~
BP=xzt=°oH
OPQCR = AABC - (AAPR + APBQ)
:%X8x8— {%X(S—x)Q—i—%ﬂ}
=32 - (x> - 8x +32)
=-x?+8x=-(x-4)2+16
w2t BP = 4em @ o, oPQCR 9] W ol7t Hdj7} Hr,




